
Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  2/08/2013 9:05 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
356612 5 565685 Remote control DS RC-LP32  08.02.2013 USD / 350092 / * / G 1/4
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

3 358660 14 PC Torx-soc ov screw M3x8

5 2012136 1 PC Switch Output-Stop

6 357030 1 PC Seal

7 356869 1 PC Cable harness

9 276745 4 PC Contact piece AT

10 242951 9 PC Hex skt set screw M4X645H

12 276763 3 PC Distance bolt M3X55

13 276761 1 PC Spacer M3 mach

14 276762 3 PC Spacing sleeve 5,5X1,1X5,5M3

15 358160 1 PC Clamping piece

16 358636 1 PC Printed circuit board CPU RC32

17 276755 1 PC Display PCB

18 276759 3 PC Lever

19 276760 3 PC Spacer mach

20 276835 1 PC Spacer mach

22 276317 3 PC Hex skt hd cap screw M3X128.8 - A2K

23 356803 1 PC Cable RC assy

24 276783 6 PC Washer 6 - A4 stnls.A4-200HV

25 276624 6 PC Retaining washer 4ROSTFREI

26 242366 3 PC O-ring 6X2N-NBR70

28 2042359 1 PC Switch Vorschub / Feed

29 2042278 1 PC Switch Arm Rotation

31 2042517 1 PC Switch Start/Stop



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  2/08/2013 9:05 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
356612 5 565685 Remote control DS RC-LP32  08.02.2013 USD / 350092 / * / G 2/4
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

33 358633 1 PC Front plate LP32

34 2021563 1 PC Sticker Cut Guidelines TS 32 packed

35 357646 1 PC Protective cap

36 357682 1 PC Protective sleeve M20x1,5

37 276782 6 PC Recess csk head screw M3X84.8-H-A2K

42 276846 3 PC Rotary knob assy

46 276849 3 PC Lever Rotation assy

48 276858 1 PC Seal FKM

53 356891 3 PC Seal

60 358050 1 PC Wire 1.6mm

61 358051 1 PC Clamping sleeve 1.5mm

62 2012202 1 PC Cable tie 100x2,5450220.0100

63 2021550 1 PC Housing DS RC-LP32 packed

64 2021562 1 PC Nameplate DS RC-LP32 Service packed

600 430817 1 PC Label RFID

900 59299 1 PC Adhesive LOCTITE 222 250CCM

905 226402 1 PC Adhesive LOCTITE 518 50CCM
 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  2/08/2013 9:05 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
356612 5 565685 Remote control DS RC-LP32  08.02.2013 USD / 350092 / * / G 3/4
  

 

 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  2/08/2013 9:05 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
356612 5 565685 Remote control DS RC-LP32  08.02.2013 USD / 350092 / * / G 4/4
  

 

 


